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HOMA BAY C()UNTY PRE—MOCK EXANIS
STANDARD 8- YEAR 2015
SOCIAL STUDIES / CRE

i Youhmbeengwenﬂnsquesuonpapermdasepmtemwusheetlheqnmonpaperconmms%qnmons
2. Doanynemyroughworkmﬂnspapar :
3, When you ha‘vc chosen your answer, mark it on the ANSWER SE!ET not in this question paper.

HOW TO USE THE ANSWER SHEE'I‘
4. Usean ordinary pencil only. » _
5. Make‘sum that you have written on the answer sheet.

| YOURINDEXNUMBER
YOURNAME 5
NAME OF YOUR SCHOOL

6. BydrawmgadarkllnemstdctbccanectnxnnbuedboxzsmatkyourﬁlulndcxNumbﬂ (e ScboolcodgNmbq
and the three-figure Candxdatzanmber}mﬂxcgndncarthewp of the answer sheet. -~ -
7. Donotmakc any marks outside the boxes. '
" '‘Koep the shieet as cloen a3 possible and do not fold it b :
9. - For each of the qusstions 1 - %&nmmmmmmmmuscm Ine-qhe-.auyonm
, ofthsfonransmxscmmt(homtheem‘mctmm : : e
10. OnthcmmmemmmmhmwmlmethMhmm
. h.ave chosen is written. g e :
Example.-
In the Quesuon Paper . :
77. Who among the following dxscxplw deniedJ susthreetxme?
A.James -
B. Andrew =
C. John ; ;i X , i
D. Simon Peter ' . 6 it
The correct answer is (D) . ' s
On the answer cheet:

ol e [ ueon flueos BiomcooBlusan
lnthcllurdse!,thcboxwxﬂxmemnpnntedmuumuked. : _ Tl S
11.  Yourdark line MUST be within the box. 3
12 ForeachquesuonONLYONEboxmtobcmm‘kadmeachsetoffou:box&
This Question Paper consists of -6 printed pages
Candidates should check the question paper to ensure that all
the' pages are pnnted as indicated and 2o quesﬁons are nnssing.

TURN OVER
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What is the general d:rectlon of HILLS market
from the saw mill?
- A. South East B. North West

C. East D. West
Who of the following government officials is the

. head ofiZion town?
A. Mayor
C. Chief D. District Officer
People living at HILLS Market will have their
land disputes solved by the?
A. Policeofficer at hills market
B. District commissioner at hills market
C. Town clerk at Zion town
D. Agriculture officer at Zion Town

The animal’s sanctuary found in Zion area serves .

which purpose?
A. Itbrings foreign exchange to Zmn area
B. It attract tourists
C. Itis a home for endangered animal species
D. Itisahome for BIGFIVE animals
The source of revenue for Zion town council is?
" A. Collection u. Jines at Zion town court
B. Sale oftrade license to shopkeepers in Zion town

B. District Commissioner

D Value Added Tax (VAT) paid by pwple in Zion

" Thetypeofsettlement found in Northern part of

Zion area is? : P G,
A. Sparse B. Cluster . -
C. Nucleated D. Random

The school in Zion town wishes to  enlargeits -
compound. Which of the following government
office should the school approach for more Lmd?
A. District Education Office -

B. Municipal Council Office

C Town councxl office

D. :
Which one of the following apprennmhlp skﬂls d1d
children NOT leam in traditional African Societies?
A. Burning stones to getiron ‘

B. How 1o look for roots and leaves to make medicine
C. Making ofbaskets and gourds ;

. D. Workingontheland -
' Three of the following are reasons why the diffegent

Kenyan Communities migrated. Which oncstOT?
A. Increaseofpopulation B. Adventure ‘ -
C. Epidemics D. Drought
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10.  whichoneofthefollowingis tcueaboutthcmbe:actmn the instrument shown in the diagram? Itisused
: communities during the pre-colonial pericd? A. Determine the temperature
A. Worshipping the same gogs : Jé gmgggzutr;
i trading activities 1
g: Cau'ylng C::nm or standing army g D. Record the speed of wind v
D. e g common initiation ceremonies 19. Threeof'the following are results of the settlement o
L e e the & Maasai into Kenya. WhichoneisNOT? They __
L v s Wid ameng s fbllowing convened the 1884‘ A. Taught other communities they found
' ! A 8835 B]erhn: EConfermce; Cecil Rh B. Displaced some communities they found

. A odes C. Traded with other communities
ok C "Otto Von Bistoark | D. Carl Potess D. Copied sorme customs from other commumit:

{. {2‘ “Which one of the following was NOT a resuit ofthe 20.  Thebestway to control gulley arosion is by

i commg of Arabs and Persians in East Africa? A_ Plantingcovercrops  B. Constructing cut-off dr:

5 A. Coastal people were converted to Christianity C. Strip cultivation D. Constructing gabions

i B Introduction of new foods and way of dressing | 21. Sango-Buru Primary School pupils are known fi

i -C. Building of Coastal towns for trading purposes drug abuse. What is the BEST actionthehead
e D. Intermarried with Africans and resulted in teacher should take to stop drug abuse?
A Swahili people A. Educate pupils to use drugs sparingly
2 . What is the time in K esses on longitude 32°E when B. Educate pupils on the dangers of drug abuse
i : itis 8:20a.m in Tripoli on longitude 18°E? - C. dentify the drug addicts and punish them
XS - A. 7:24am . B. 1180820 D. mczﬂ(;sot;u;) izzmanmt penmewrwallamum
C. 5:00am D. 9:16e.m 22, Three of the following are reasons for the scram!
3 ﬁ-’——m———-i——L——”‘ below shows the structure of a physical * and riition of Africa by the Eurupean countries
\ U e it 2o answer. guestions I4-and 15. YWhich oneis NOT?
% Veat A. To acquirs raw materials for their industries
e B. Toresettle their surplus population
e Magi. C. To creaiz job opportugities for the Africans
S s D. To establish and safegyuard markets for their gooc
e AN <V AYSEY 7! ) 23.  The following are characteristics of a type of
14, ,thh oneofthe followmg shows the correct ordt:r climate in Africa.

1 . Fi.: offoumation of the above feature? i gmfﬂ”mgMﬁW:;%agﬂm
oy T A. Crater, lava, magma : experiences a hot rairvy season and a seaso
R i i B Mnge:a, sv:l;sxdxary c:::s‘c?aiz ‘;:3: (3ii) temperature ranges between 15°C-25°C.
i | A A : B (iv) Long distance rains are caused by the

: - C. Lava, crater, magma, subsdiary cone . el
o D cone, lava, : :Sout:h East qusoqn» winds _
: : Sobaidiary MEREIS, -3 “‘Which climate condition is described above?
15, mveeofthefollowmgmomtmnswuefomed - A. Bquatorial B. Savannah
through the above process. Which one was NOT‘? € Sini.-dessict D. Meditranean
A. MtRuwenzori . B. Mt Elgon '24.  'Which cne of the following results of Lenana’s
- C. Mt. Nyiragongo D. Mt. Meru collaboration with the British had the most lasting
16. The following are factors that led to the rise of Old effect for the Maasai?
= Ghana Kingdom EXCEPT? . : A. Lenana’ srecogmtmnasaparamoxmt chief
A. Tt opposed the introduction of taxanon : B. Theuse of Maasai wamors to conquer other
: B. It had a favourable cimate ©_ comunity
i ; (o nsposmanenabled:tmmolmahm Trade. C. Food supplies and cattle for the Maasai
S - D. It had a strong well equipped army D. 'Ilii‘heconitmgtxonof&wmﬂwayhncthmu@
17. ~ Which one of the follo uthern ' SRR
- e 25.  TheBESTtimeto threshmilletis when the weather s
. A. Kwah, Zuluan%!bo smewm? A. Cool and rainy B. Sunny and windy
g g "B/ iSomuke, Bambara and Swazi ) C. Cooland calm D. Cloudy and rainy
g o C::Degombs, B d Sh 26. Three of the following groups of communities took
B S SR S erero and Shona - partinMaji Maji up-rising. Which one did NOT?
iR . /D. Sotho, Ovambo and Xhosa A. Wanyamwezi, Wachagga and Wahehe
{ 3 8. Thediagrambelow shows an instrument used for B. Wapogoro, Wambugu and Wabena
o e € L measunng weather. Use it to answer the questnon C. Wangoni, Wazaramo and Wangindo
S e 1hﬂtfollows D. Wasangu, Wamatumbi and Wamakonde
ot 27. ‘Which of the following methods of catching fish is
MOST suitable in calm water of the lake?
» A A. Line fishing . B. Trawling
e AT e B B : - C. Traps D. Purse-seining
A i? ." 'Which one of the following statements is true about 28. - Whichoneofthe followmg ways mdxcatw how:
bl . - ;
Lhew : i ot 991,24 .
b . H[BNY PRE = Mo 2015
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30.

: ’31‘. Theqtudy of foss

pupil$ maybe abused w}nle at school?
A. Compelling them to coraplete homework
B. Retaining them of extra teaching
C. Making them clean the chalkboard”
D. Retaining themn in class dunng break time

29." . Whichoneo SFihe following is NOT a reason why -
- first aid is administered to accident victims?
A, Tobeafirst classdriver -
B.. To promote recovery
C Toreduce paid and suffering -
D. To savetheir lives
- Below are some conditions necessary for the
_ growing ofa crop: ;
(i) deep well drained fertile soils
(ii) well distributed rainfall between 1500mm and
; 2000mm throughout the year
(iii) constant average temperatures between27°C-
~and 30°C
- (iv) high humnidity throughout the year
Thecaopihat growe rsundertheabovelisted condnlonsxs?
A. Pyrethrum B. Tea
C. Cloves D. Wheat
1:naterial in various pr--hrstuncal
sitesis refeired to as?
A. Excavation B. Tabulation
C. Archasological sitesD. Archaeclogy

¢ 32+ ‘Thefollowing were contributions of an African

leadertowards the struggle for independence:
(i) Introduced a constizution of a central
T goveritineni with minisiers
{i) / bolisked slave irade
. (i} Supported liberation movements in Africa
(@) Was afmmdor member of O.A.U
. Whoistheleade referref‘ to?
~A. Leopold S\,nzhor . Julius Nyerere .
'C. Nelson Mandela. D. Haile Selassie
33 Three of the following are characteristics of
traditfopal fanning in I\f:n va. Which oneis NQT?
A. Lossofsoil fertili ‘y1eads to movement of
peoplc to new.areas -
'B. Trees are cut and burnt
i o2 Useofmacb.m&y
. D, Small porticns of land are cultivated atat.me
i4. © Which one of the following statements is true about
the National Flag of Kenya?
A Itwas inherited from freedom ﬁghte:rs
B, Itis 2 symbol of fnational unity
"C. Bwasgivento ¥en yans by the British
. D. Itscolours 101.‘*( sent the arms government

: Tse @ map of Afvica below to answer questions 35 to 3&

K

. 35.
- 36.
37.
38.

39.

.

42,

43,

1as.

46.

- C. Tibesti Mountans
The ocean currents marked “L” and N are?

A. Mwea Tebere

" industrialization to the country?
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‘Tl following are uses of a mineral mmedmcoumry
marked J EXCEPT? -
A. Making motor vehicle radmtors
B.#MVaking water and gasp
C. Makingmedals, ornaments and jewd.lay
D. Making alloy of Bronx and brass
Therelieffeatiwre marked K is e .
A. FoutaDjallonsplatezs B, EIWJ o
D. Aflasmountains : e

P

A GuneaandCanary B,
C. Guineaand Mozambique D.

. The Multi-purposeriver project marked N is the?

A. Kariba Dam B. AswanHigh

C. Volta River Scheme D. TanaRiver Projects

‘Which one of the following colonial system of
administration was applied in Mozambique?

A. Indirect rule B. Assimilation

C. Paternalism D. Directrule g
‘Which one of the following groups of problems is a
problem facing urban centres in Eastern Africa? ;
A [* Poor planning for provision of services and faoi-liﬁut

~ Heaps of uncollected garbage
- Growth of slums .

B |- Tzaﬁ‘lc am '
- Provuxon of good services and ﬁciht:
- Unemployment among youths

C [~ Shortage of water D |- Unemployment
- Good modern houses - Shortage of water .
|« Adequate facilities - Reduced congasﬂon

Three of the following are ways in which road

‘accidents are reduced in Kenya. Which oneisNOT?

A. Driving when not in good health

B. Displaying road sipnsonallroads -

C. Introducing speed govemors and safertybelts
D. Grazing far away fromtheroad - =

‘Which one of the follo'vmg isn’ta subardinate |

court?
A. Court Martial C. nghCom‘t
B. Kadhis Court - D. Magistrate Court .

'lheprsmtgovcmorofKusmnqumtyxs N
A. Awiti P
B. Gomel Rasanga e

- C. EvangOdhiambo Ranguma

D. Jacktone Nyanungo S e

The following are uses of soil. thdx one ls ‘
NOT traditional? : : e g

A. Mali ¢ ofbricks -

C. Growingofcash crops

B. Decoration

D. Growing offood crops

'I?;gollomg are characteristics ofa certain type

o

(i) has fine particles .(ii) easdy water logged . -
(iii) crackswhen dry i
The above type of soil is likely to be fotmdznﬂw
following regions EXCEPT? i

B. Chemelil

C. Kibos D. Tani g

Which of the following is NOT bmeﬁt of

A. Eaming of foreign cxchange
B. High costof energy

HBA PR~ MOCK -2.0i5




47.

- 48.

49.

50.

51.

-

54..

- Al fi,iliand v
- C.iiiandiii ) 3

KenyasphﬂosophyofNyayomnnducedﬂree e
. other philosophies. Whu‘honewast? L

 BEN &t TR

AT AP e v g A e by

C. Improvement of infrastructure

D. Self-sufficience on industrial goods

Below are some factor which favonrs rapld
industrialization in South Africa

(@) preserice of wide range of IamcmLs'

(&) availability of low-wage labour

(iii) availability of ready markets

(iv) research information ‘

(v) political stability

Which of the following combmauons of factors
favours South Africa only? _
B. i,ivandv

D. ifi,jivandv

A Humility B. Unity

C. Love ‘D. Peace -

Below are tourist destinations in A frica,

(1) Serengeri Game Park

(i) Kruger National Park

(iii) Victoria Salls

(iv) Ancient town of Marrakech

(v) Valley of kings

(vi) The Coastal beaches

(vii) Maasai Mara Game Park ’
Which one of the destinations‘are found in South
Africa, Egypt and Morocco respectively?

- A 11, vi and vii B.i,ivandv
C. vi,iandiv D. i, vandiv
'IhcotgammuonofAﬁ: ;8 Umty(O A.U)bad thg
A. Lackof capacity to'e res
B 4 5 ‘,;. =tE A i M

C. HIV/AIDS pandemic

~ D. Political stability

‘Which one of the following statements abcmt
settlement schemes in Kenya is NOT true?

A Theyhave helped increase food production
B. They were introduced by white settlers

C. Theyhave helped reduce problem of landlessness
D. Somehave been mbhshedbyreclmmmgland_

- Which of the following statemients is troe about

both fishing in Japan and Kenya?

-A. Marketing is done individually

B. Fishfarmsarelarge - '
C. Tradxuomlmethodsofﬁshmgmused
D. Mainly keep trout and tilapia

WhatxsiheMANﬁmcﬁonofmsonsdczpammt s
8 62.

in Kenya?

A. Employs the criminals

B. Retries the criminals

C. Denies criminals human rights

D. Rehabilitates criminals :
’Ihebstwayofeuoomgmgmorcﬁshmgmﬂ:e :
riversinKenya is ’

A. Introducing cheaper fishing nm

B. Educating people on the benefits of eating fish
C. Encouraging formation of co-operatwes to sell

(Y \ R g e
wt BV SN

B I T i I~ S o Fov wenarpEs

b 8

Teg

B N

- 36.
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A=

MUl Shalie B o hub

it € TotmsmandD:phmshcpohmmt

B. Gmaul Service Unit

when thcpahcemmdzgpaaai fmm:nand :
injured the MLP. Wlndmﬂhsﬁﬁhwmgdgus

“ wastheM.Pdenied? - . - W

. A. Freedom ofmova:nent

. B.: It earns the countries

B Freedom Qfassocnnan
g o Freedpmof

| Becfﬁrmmgmnnnﬂyptwtmed mK.enya and -

Tanzama. Whichoneis the jeast
A. Asasign of prestige

m?mmtmgﬁns?

foreignexchange
C. Présence of alternativecheaper source

. D. To increase supply of mesat

59, hi

60.

CCRE

61.

63.

CL Violanmofpeaplesﬁm
- D. Providing

"’Ibenommauondamsof acuxhdatémandeeuvc

- poathcnya!sannmmcedbyﬂw?
A Prmxdmgofﬁeer

- B. Religious

Wﬂpupﬂswmwwﬁnmofa :
textbook. Whaimthchastmm.teacbcr
to take? ;
A.Ad\noethcpupﬂsamstﬁghnng

B. Punish them equally

C. Retrievethebook -

D. Dmdetbcnﬂmbonke@nlly N

According to Genesis 3Adam and Eve.rcahzed

they were naked when

A. Theywere visited bythe. supmt

B. They were called by God " :

C. Theyate the forbidden fruit .

D. mwmmwwmww

“Don'tbe aﬁmdgodawnta&yptﬁrlshdlmakc
youaGmatNanon &uc”whomtoldﬂ:esevmds?

A. Jacoh ‘B. Moses '
'C. Abraham D.Joseph : g
Oneofthe fouomgm aoodreht:ondnp

% Faxthﬁ.dnas,pnde,bndmm

B. Generosity; kindness, hatred
C. Kindness, generosity, faithfulness

- D. Generosity, gossxp, faithﬁzlness

A \'l : :..._-:> N
-_aw.’wqﬂhh"&w




- 68.

.

68,
69

0.

72.
73,
74.
/78

Lk

T

A Bethlehem Nazareth
" B. Jerusalem Beﬁﬂdnn

A o8 Klkuyu
71.

are stories in our tradmonal culturc that”

explains origin of things? :
A. Legends - B. Fork talcs -
C. Myths “ D. Lallabies

WboamongtheBiblepersonahtmwasadmcom

A. Permanas’ * - - B. Andrew

C. Dinah D. Deborah

Which ofmefollowngataxs um:»waus life? -
* DIED M EIRTQ S

Jerusalem

A.;met a Std Seven girl sawh:rmodu:rtakmgher L

father’s money from a coat. When her father -
asked about the maneyﬁﬂmet choseto keep
quiet. Which virtue did she lack?

A. Honesty B. Trust

C. Courage . = = D. Patience

‘Who among the following people brokethe

sixth e e R

A. Solomon -~ " B. Saphira

C.Elijgh- 77 "D.David ‘

The book ofActswaswnttmbyDr. Luke. It
* ‘was addressedto?
A. Theophilus - - BMathew‘ Hadar iy
C. John ' D, Thituge = o 5-a

Which of the following mission stations meya
was staried as a colony of free slaves? :

A. Rabai : B. Frestown

D. Maseno
Dmmgthe40yearsofwondtmngmﬂxedesertﬂ1e
Israelites were led by ?

A Thuderandlightoing 4 |
: LA ol A&—Hxstoncal

B. Moon and stars
C. Fire and clouds

> X Rmnandﬂnmdarstorm'

Abraham was told to oﬂ'er Isaac asa sacnﬁs.e on
Mount?
A. Canaan _ B Morizh

C. Sinai D. Jerusalem
Dxmngthebmhoﬁwusﬂ:ekoman Emperorwas

A. Augustus B. Caesar

C. Calaphas - D. Pilate
Noahsﬂoodxsalsocalled_______’ﬁ n
A. Deluge - - B. Grcatwater -;1;»-
- C. Theark “D: Tabe‘maa”é

‘Saul wholaterbecachaquas astudentof S
A. Ananjas - B. Peter

C. Gameliel - -D. Herod

came to him to be healed was?

A. Patience ™ % B. Faith

C. Humidity ‘D. Love

‘Which of the follcswu:«¢7 descnpuons DOES NOT

| refer to Jesus? »
A. Therock B. Prince of peace
C. Wonderfuleou.. or D. 'H-ueVine
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78.

| 79,

81

83.

- 86.
87...
88, -

=L
A quahty that Jsus required ﬁ‘om the people who

"C. Be thankful

_ A. Sinful person

- C. Rehaboam

Mate L NN T K, AT S A ._._'--_f'p--.-‘.--»:. pBT e ke

Gll’.S and boys are d;soomaged from pre-mantal
sex because?

A. They can contract HIV/AIDS

B. Ttissinful

C. Girls can become pregnant

D. Sexisfortheold -

'Ihefoﬂowemoﬁmxs wmﬁrst@ued(]mshmsm

A. Capemnaum . B. Bethlehem

C. Antioch I, Jerusalem

Why should Chnstmns shareﬂmrwealthmth the
poor?

A. Godxsthesom'ceofwealth :
B. TogutbkssmgﬁomGod
C. To enable them enter God’s ki

' D-Rich people cannot enter thehngian of Goc
' The parable of the Pharisee and tax collector
- shows how believers should?
~ A. Talk about their deeds

B. Behumblebefore God

D. Bemlmgtobeforgwm ,

According to Luke 10:25-37, whozsmynag:bmr’l
B. Apersonimneed.

C. Asick person D. A greedy person...
During Exodus, the following were gvamhewle
ofarhsbcworkofgold,bronzeandsmm? g

o Ohohab/Beza.d 1
D. Jethm/]oshna

A.Caleb, Miriam
C. Moses/ Asron

“Which ofthe foﬂowmg is matched wnacﬁyynh

his mother? |

A. Rebecca — Isaac

B. MaryMagdaJJne—Jm
C. Hannah - Samuel = -

v B DB Bethsheba -

Which ofthe foHOng Books s cotrectly g

B. Mathew — Law s

C ngs-Poa:rym ‘D. Job—Letters
The prophet who separared water of R. J ordan :
with astick was? ,

A. Elijah ..B. Moses

C. Jobn “D. “Nathan
Who among the followmgpeOpie'

to Death?

A. PontiusPilate ~  B. Caiapbas
C. Herod- D. Caesar

Theyarranged forherto havean abornon.
Which commandment were &zeybmaldng”

" A. First .. . B.Tenth

C.Sixth *° ' D, Eighth-

Lazaruswasmsedﬁ'omtbcdﬁdbylesusmthe :
- town of? S
~A. Damascus | B. Canaan

C. Bethany D. Antioch -

Solomon’s motherBethsheba was fonhedy the
wife of? ;
A. David B Uriah

-D. :Yexjaboam

[
3
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2.

P

10.

C. PR |

Whatis560160.05inwords?
A Fifty six riillion sixteen thousand and five
hundredths < . :

" B. Five bundred and sixty thousand, one hundred

and sixty, five hundredths %

C. Fivehundred and sixty thousand, one hundz-ed e

and six, five hundredths
D. Fivelméredand sixty thousand, one hundred
- and sixty five tenths
‘What is the value of;
U7 + 5 )
2(8-6 " 9 ' ‘
A. 12 .B.. 28
C. 24 D. 34
What is 18.0835 written correct to hundredths?
A. 18.084 B. 18.08 '
C. 18.10 D. 18.083
What is the smallest number which is divisible by
30, 45 and 60?7
A. 15 B. 540 C. 135 D. 180
What is the place value of digit 8 after dividing the
total valne of digit 9 by the total value of digit 5in
thenumber39175687 © © T
A. Hundreds B. Tens of thousands
C. Thousands D. Tens
What is the value of x in the equation?
3x -2+2x=11
2 el Lo
A 3, . B.. 44,
C. 19, S : D.-, 123/5
Phiona bought the following iterns from a shop.
2 packets of wheat flour @ sk. 126.00
' 2 packets of maize flour @ sh. 105.00
1 kg of cooking fat @ sh. 232.00
1 kg of sugar @ sh. 104.00 .
3 kg of rice for sh. 258.00

If she paid using 3- five humdred shilling notes, how

much balance did she get?
A. sh 1,056.00 B. sh. 701.00
C. sh. 159.00 D. sh.444.00

The length of two diagonals of a thombus are 8cm
and 6cm. What is the length of one sideof the

A. 10cm 4., B. 4cm
C.Sem - Y% D. 3cm

What is the correct order of writting fractions
Y, ¥, and ¥, starting with the least?

g A

A ¥y ¥, Y B Y, 3y, Y,
C Y :/v A D. 3’:’ z/:’ Yy

Draw an equilateral triangle PQR of side 4cm,. .
Construct a circle with centre O touching line PQ),
QR and RP. Which of the following is likely to be

. the diameter of the circle?
A. OP B. RQ

D. PQ
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.  How many fencing posts spaced 5 m apart a

required to fence a rectangular plot of land
measuring 401 by 20m? -

' A, 160 B. 25 C. 24 D.
12, - A shopkeepersold shirts at sh. 480 each makir
- a20%loss. He later changed the prices of the

remainig shirts and made a 10% profit on each
shirt. What was the new selling price?

A sh.600 B. sh. 660
" C. sh. 400 . D. sh 500
13. © Workouf; 116 X 48 + 6 - 35 + 135
: A. 928 ~ B. 1096 -
C. 758 D. 1028

4. fa=2 b=ag+landc="p +2
What is the value of the following to the pearest

whole number?
62 + (b - ap
@ + )2
A. 4 B. 5
C. 45 D. 44
15.. A famrcr harvested 2000 kg of maize and Jet it ¢
for 3 days. If the mass was reducing at 2% per
day, what was the mass of the maize on the third
day? : :
A. 1960 kg B. 1920.8kg
C. 1882.4kg D. 1880kg
16.  Theratio of distance covered by Derick while

walking to that when cycling is 4 : 3. If he cycled
distance of 21 km, how far did he walk? .
A. 28km B. 12km
C. 49km D. 7km
17. What is the value of;
0.9 + (0.6 X 0.4) - 0.04
0.011

A 1 . B, 3.26 E -

. C. 100 D. 10

18. After a day’s sale, Jane had the following,

denominations in her cash box.

70 twenty shillings coins

180 ten shillings coins

118 five shillings coins

210 one shilling coins
She changed all the money in the box into two
hundred shillings notes. How many notes did she

- get? .
A. 200 B. 20
C. 40 D. 400

* 19, Onamap whose scale is 1 : 20 000, a rectangula
»  plotmeasures 1200 m by 800 m. What is the

drawing scale area?
A. 320 cm? B. 36 cm?
C. 48 em? D. 24 emy?

20.  Acylindrical tank has a radius of 2.8 m and holds
- 12320litres of water. What is the depth of the
water? ( Toke pie = )

A. 05 B. 50cm
C. 500cm D. 5cm




21.

Colour of

What is the simplified form of 9 A
26x + 4y + 5(2x - 3yp)

A. l4x + 20y B. 16x + 20y

C. 16x - 7y D. 16x + 7y

There were 180 pupils who sat for an examination
in a school. Five ninths being boys, three fifths of
the boys and five eighths of the girls passed, What
ftaction of the pupils passed the examinations?
A Y, B. W/,

C. %, DLW

The table below shows the different colours of
'shoes worn by children during a party.
White | Brown | Black | Pink

Shoes Toney Red

Numberet- | ‘3 “t 4 1wl 21! s

Children =

What was the modal coloue?
A. Black B. Tongyred

- C. White D, Brown
Construct triangle ABC where, AB =6 cm,
BC =8 cm and angle ABC = 9(°, Bisect angle
ABC and let the bisector megt AC at point X.
A. 5.6cm B. 44cm
C. 10cm D. 48cm

In the figure below AB is parallel to CD. Angle
AEF = 125° and HGD = 359,
A

s ¥

H
What is the size of angle JEH?
A. 90° B. 145°
C. 145° D. 35° :
Sixteen people working at the samerate can dig a
farm in 21 days. If 4 people are absent, how many
more days will it take the remaining people to
complete the digthe farm working at the samerate?
A 21 B. §$ C 7 D. 28
A family uses two Y/, litre packets of milk everyday:.
How many litres of mulk does the familyuseina

fortnight? _

A. 3Y/,litres B. 7litres

C. 112litres D. 70litres

What is the surface area of a semi - cylindrical rod
ofheight 0.48 cm and a diametre 2.8 cm? (pie™ 2

A. 9616cm® . B. 18.36 cm?
' C. 18.48 cm? D. 26.32 cm?
What is the value of; )

Bl + 1Y, X M+ Y2
A8y, B. 167,
C. 7, D. 4%

A green grocer bought 50 kg of9tornatoes for
sh. 250, 100 kg of potatoes for sh. 940 and 70

31.

32.

33.

38.

36.

g e i bty s er s orion ¥
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bananas at sh. 2 each. She then sold the tomatoes
atsh. 12 perkg, the potatoes at sh. 13 per kg and
the bananas at sh. 5 each. If 10 bananas got
spoilt, how much profit did she make?
A. sh. 2,200 B. sh. 920
C. sh. 2,250 D. sh. 870
Construct a parallelogram EFGH in which -
EF = 8cm, FG = 6cm and angle HEF = 60°. Draw
the two diagonals to intersectat P. Drop 2 '
perpendicular from P to meet EF at 8. What is the .
length of line ES?
A. 55cm B. 25¢cm
€ 6cem , D. 35cm

- Linetleft Kampalaon Sundayat 163 5hr and took
10 hours 50 mimutes to reach Kisumu. On which
day and at what timein 12 hour system did she
reach Kisumu? - E ‘
A. Sunday, 3.25am B. Sunday, 3.25 pm
C. Monday, 3.25 pm D. Moaday, 3.252m
A std 8 pupil in Rachier Primary School recorded
270 different types of vehicles that operated along
Kendu Bay - Kisumu road on Friday. The pie
chart below represents the recorded information.

How many more vans than Range-Rovers
A 96 - B. 36 C. 24 D. 72
Irene left Kisunu for Migori at 825 am drivingata
speed of 80km/hr while Ong’ow drove from
Migori towards Kisumu at a speed of 96km/hr.
They both met 160 km away from Kisumu. If
Ong’ow started his journey at 935 am, what is the
distance between Kisumu and Migori?

A. 356km B. 204km

C. 256km D. 240}km ‘
Which one of the following statements below is 2

* property of a parallelogram?

A. Diagonals are not equal but bisect each other
B. All sides are equal o

C. Diagonalsare equal and bisect each other

D. Diagonals bisect the angles

The diagram below is a trapezium PTSQ. Line PT
is parallel to line QS. The length of PR = PQ which
islSanandT.S-thm.P : :
T 2 .

>

15cm

s ; 'Q
What is the area of triangle PQR?.

A. 180 cm? B. 67.5cm?
C. 54 cm? D. 108 cm?

_____
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38.

39.

40.

42.

43.

44.

AN S iasts

Kaimenyi bought y oranges, kambi bought

x + y oranges while Sossion bought two oranges *

less than both Kaimenyi and Kambi. Which of
the following expressions shows the total
number of oranges they bought? :

A 2x +3y-2 B, 2&% 2y-1)

C. 2+ 2y + 1) D. 2x + 3y + 2
Three women groups collected money fora water
project. Thucidepcollectedsh. 6,350. Ondisére -
collected sh. 2,540 more than Thucidep and Blue .
ladies collected sh. 700 less than Ondisore. How

" ‘'muchdid they colleét altogether?

A. sh. 9,590 B. sh. 13,270
C. sh. 24,730 . D sh.23,430 "
Below is a net of a prism. .

_Sem _ Whatis the total surface area of the

solid formed from thenetinem??
P A. 108 . B. 100 - -

o C. 96 D, At
dem - -t

“dem|

DR
v

The mble below shows te.l egraph meney order -

comumission. [ ; | "Telegraphic Commission
S '”'Ru!gt' ' (Shs.) -

Not exeeeding 500 <7100

501 - 1000 Eode oy 146.00

1001 - 3000 .. 203,00

3001 - 5000 . 237.00

5001 - 10000 315.00

1000} - 20000 503.00

20001 - 30060 656.00

| 30001 -35000 682.00

Ac}umg sent a telegraphic mbney order worth

~ sh. 25,000. If she paid sk. 26, 000, what was her

balance? ,
A, sh 476 . - B. sh. 344
. C. sh. 1,000 - D. sh. 25,656

Kisilu eams a basic salary of'sh. 10,000 per month
phus 25% commission on sales above sh. 10,000.
In one month, he earned sh. 16,000 all toz sther.
What was his total sales that month?
A. sh. 120,000 .. B. sh. 14,800
C. sh. 110,000 - D. sh. 130,000
‘What is the next numbex in the pattern?

2, 6, 14, 26, 42,
A 58- B.79:.:C. 86 I 62 .-
The marked price of 2 bicycle was sh. 4000 but a
discount of 5% was allowed to cash payment.
Omullo bought the bicycle on hire purchase by
paying a deposit of sh. 1500 and 8 instalments of
sh. 500 each. How much money would Omullo
have saved had he bought it forcash? =~ -
A. sh. 9300 - B. sh.1700
C. sh. 5500 -~ D. sh.3800 .
The figure below consists of squares and
isosceles triangular parts

F R i

18ecm L

|

45.

46, -
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-(———1851:1-——-) What is the area of the
& shaded part?
ﬂ ® A 216em?
j,l . =i B. 40.5cm?
& C 162cm?
- ~ D. 121.5cm?

The table beiow shows the aumber of people who
had attended Kisumu Agricultural show in 2004

MaleAdults “Female Adults | Childreo
. 894 . | 2146 . 5003 |

" Ifeach child paid sh. 20 and each adult sh. 1 00
* how much more money was' collbcred from the

" children than the male aduits? - -‘
‘@ sh. 28660 __"‘B'. sh. 185940
© C. sh. 207460 D. sh. 89400

Bande dcposned shs 20000 in a bank for 1%/, .

* years. Thebank paid a compound interest atr.he
- rate of 20% per annum. How much money was in

his acccount at the end of 1?/, years?
A. sh. 22000 - o B sh. 27600
C. sh. 7000 > 7 .oD: sh:270060

What is me ﬁextpattcm in the

48.

49,

50.

Which one of the following measurements w:.ll
make & right angle triangle?

~A. 0.9m, 16m,2.5m B. 7m,0.24m025m'

C. 0.6m,8m,10m D. 0.5m,1.2m,1.3m
A tailorneeds 1.75m of material to make covers
for 5 stools. How many covers can he make with
29.75m of material? . :

A. 17 B. 85 C. 10 D. 22
The graph below shows the changes in tcmpa'atuxe '

ata stationin one week.
‘—iﬁ';ui d et

g.
"
&¢
E
=

Dly: of tlu Wnk
On which two consecutive days was the

tempegature change greatest?
A. Tuesday and Friday B. Tuesdayand Wednwday
C. T}mrs..quFndayD _Mondayand Wednesday

NG
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mwwg&m‘pﬁ.f K
- i) They sseeight inrmmibens - : |
. i) Theyliave cusps arridges

iii) anndh&ewmgmdmgm‘w

2 %ahemnfﬂ:efaihmgpsoﬂe&h
- described above? .
' A. Molars . B. Premolars
C. Incisors D. Caxiine
’ wsmmunmh
Mmmsmwow

Water

Whmhorwofﬂ;eﬁoﬂomngconclusmnsdtdﬂwy |
make when the bottle were hit by 2 nail?
A. BottleD producesthe lowestsound -

- B. Bottle B produces the lowest sound
C. BottleD produces the highest sound

D. Bottles Cand D produce the highest sound

ThcfanownxgmwaysmwhxchPHVandAIDS are "

Dot spread except? o

A. Sharing instruments for removal of teeth
B. Sheaking hands :

C. Sharing meals

D. Swimmingtogether

" ‘Whichone of the followin,gis TRUE about

L

" A. Charcoal tongs

anemometer?
A. Usid for measuring strength and speed of wind

B. Usedformeasmngdxmcnonandspeedofwmd |

C. Usedformeammgspcedandtcmpmnm

D. Used for speed ofwind
Standard § pupxlsclassxﬁadﬁmgtu ahawnmthe
chartbelow. r.ng_ i
] |
Useful . m *"1
Dandraff ~ Veast  Athlste'sfost  “Mushroom
Which pairs of fungi are wrongly classified?

A. Yeast and athlete's foot

B. Mushroom and yeast

C. Dandruff and mushroom
D. Athlete's foot and dandruff

Fish and adult frogs breathe by means of and
ctively? , ; ——

A Gills,Jungs *  B.Lungsgills—
C. Lungs, lungs ‘D. Gills, gills

wmngmmluofﬁmdmm
Which oneisnot?

B. Boom

C. Qar - - D. Pliers
Oneofthafolhwmgmysmmbeapphodto
conserve soil. Which oneis it?

10.

14,

Thcfoﬂwmgmthedndvnmp@'fuﬂhm
i) They poliute the sofl :

Y Thcymmbwp!mmm

i) They sasily evaporates
iv) They are butky to transport
m#mﬁmmmﬁr

A ii, i - s B. v, ii

D. Liv

Thc following are signs and Sympioms of s certain
water borne disease. '

i) Violent diarrhea i) Vomiting
iii) Severe abdomminzal pain A

iv} Dehydration of the body

‘Which one of the following diseases is described
above?

A. Typhoid B. Cholera

C. Biharzia D. Malaria

The table below shows sexually transmitted
infection and iheir causes

Nerme of 1T Caunse
A] BIV/AIDS Bacteria
~ [Bl Chancroid Virus

€] Syphilis Bacteria

D| Gomorrhoea Virus ]
Which one of the following diseases above is
correctly matched with its cause?

The following animals f&ds belong to fodder
except?
A. Dairy meal B. Desmndimn

C. Maize stalk D. Lucem

Smdythcﬂowdmwnbelowmm
questions that follows.

Which of the followzng pm marked above
develops a pollen tube?

The expenmmt below was carried out by standard
7 pupils from pier Got Pri School.

Whatdadﬂaeyobscrvewhenthebotﬂzwnshhed
inside the bucket?

A. Thelevel ofwata-mthebudmmeascd

B. Water enters the bottle

- C. Bubblesofair enters the bottle

D. Thelevel of water in the bucket decreased




15.

16.

Ttbfoﬂowhgueﬂnmplm Whichongisnot? § 23,

A. Pluto - B. Satum :

C. Jupiter D. Neptune

The flow chart below was drawn by standand 8

pupils of Wang’ Liech pri. School. Studyitand

answerthe question that follows:- |,
____Haod ant Food Nutriets

l

b

Coconut

17.

18,

19.

21.

B A
foods Protective foods
Cabbage e

Which one of the follewing foods was correctly
classified? - ‘ I

A. Cabbages, keles and starchy foods

B. Lettuce, kales and cheese

C. Starchy foods, coconuts and kales

D. Eggs, cabbages and kales

‘When an electric heateris used to produce heat in
aroom,theenergy changes are:- ‘
A. Electric—chemical B. Chemical —electric

C. Electric—light D. Electric—heat

The diagram below represents the bload"
circulatory system. Tungs)

I-‘r_lnm .v.;_?m; Eggs

Which two blood vesse} are likely to have a pulse?

A. QandP B . RandS '

C. Qand R /D. QandSs .

‘Which ong of the following is not an effiect of

A. Hallucipation B. Poor health

C. Social and family problem

D. Loss of memary

Which one of the fallowing livestock parasite is

&nmdinthehmin,stoma&mﬂl\mgs?

A. Roundworm B, Liverfl ,

C. Lungvorm D. Hookwarm

Which ene of the following is a non — metal that

conduct ici

A. Gold B. Copper

C. Graphitg D. Mercury

The diagram below shows a type of separation

method. ' Evaporating dish
T Filtrate '

T T\ sene
HEAT °

The method above cannot be uséd to separateone

of the following mixtures. Which one ig it?
A. Sugarand water  B. Milk and water
C. Glucosesolution ~ D. Salt and water

hod:‘
r

26.

27,

30.

31,

32,

' 33,
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Wood ash is added in a compost heap to?

- A. Make the compost heap moist but not wet -

B. vaideadr“tionalqu:im'sud;aspotassium
s Speedupthcpmcw_aot‘dwompoaﬁon :
D. mmebmmmdemposiﬁon
Wjﬂcbmoftheﬁ:ﬂowingmisﬁkdymﬁrm
acid rain? :
A. Carbondioxide B. Nitrogen
C. Oxygen : D. Rare gases
Whi&wneofthcfollowingsinplemadﬁnmjsm
example of an inclined plane? ‘
A. Beam balance B. Pulley
C. Hammer " D. Knife :

ich one of the fo ing i ¥ B,
th?ch? ) , Uomngxéawaydmmng

B. Use ofball bearing

C. Smoothening the surface of an object
D. Increasingthe mass of an object

A carpenter Wwas using a-claw hammer toremovea

- nail from a piece of wood as shown below

Which position of t}  hammer should the carpenter
apply more force to remove the nail?

A K ‘B. M C.J D. L

In which part of the digestive syster below do we
Sndthe villi?

5 s

=
, 'Ihcfoﬂqwingammoplxyﬁcﬂag!s.w&m"ismt?
A. Moss B. Mushroam \
C. Toedstool D. Mowld -
Which one of the following pairs are biotic
components of enviroriment?
-A. Plantsand soil B, Animals and plants
C. Airand animals  D." Water and soil

Which of the following excretory products are
excreted by the skin and kidneys? ‘
A. Carbon dioxide and water

B. Excess water and urea .-

. C. Sweat and excess water

D. Salts and excess water '
dmnotredwethemofm:ipimﬁminplmts
found in dry areas? "

A. Shedding of leaves B. Few sunken stomata
C. Reduced size ofleaves

D. Deep and widespread roots .

The table below shows nutritional needs fora




34.

40.

" [B| Vitamins

pregnantmotberand thcxrﬁmcnom

‘ ‘Which mmaxf‘xs cou'ecﬂymdxed withi its ﬁm@?

Nurrients. | Functios

A| Fibre Prevent deliydratm;l :

_Tmprove fmmunity against disease

| Minerals | §nﬂding blocks for the foetus’ body '

D{ Fluids

They prevent cnn:ti%den in the body

The diagram below shows transformation of energy

‘ u}a s1mp1e eledromagna.

Dry Celis
LL 1 1 1 > e X j A 4
leed wire
Which one of the following is the correct energy
transformation in the diagram above?

A. Chemical —glectrical —magnetic .
B. Mechamcal-clecmcal—magnenc

—— Wire

G, Magnetxc.-—qh&:mml electrical

D. Chemical — magneuc electrical
The followmg are methods of cormollmg external

‘ parasites.

1) spraying with dmmcaIs

ii)destruction of breeding places

lijmaking use of dips -

iv)dusting with chernicals

Which one of the following is thebest method for

cvnh'ollmg tsetseflies?
A, B

B.aw - CLd - D, i
The earthworms arcuscﬁﬂ to the farmersas they:-

" A. Increase’ wawrretmuonmﬂle soil

‘plantsandplants. £ =

B. They areused as food

C. Impmveﬂ:emofsoﬂmdmeasemrwm
‘D. . Desttoy theharmful insect pest

The diagram below shows interdependent between

Wood
’ The plant mad(ed Xis likdyto be?
. Black jack B. Mushroom
C. Lichen D. Toadstool

The following are nitrogenous fertilizers. Which
oneis not? £
A. Blood meal B. Bonemanure
G -Sulphate of ammonia D. Urea
The followingare emotional changes during
adolescence. Which one is not?
A. Urgeforfreedom = ...~
B Interestin the oppositesex . -
C. Feeling of self—importance .

D JF&ir gmwmdcrﬂlearmpxsandonﬂuepubhcm '

The following are signs of a deficicncy disease.
i) fingernails, eyelids and tongue appear whitish

|

41,

42!

43.

45.

46.

47.

48.

49,

50.
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if) child becomes tired quickly

. 1if) child feel weak and has no ena'gyto play
iv) the heart beats rapidly ; :
The above are signs of? :
A. Rickets B. Kwashiorkor
C. Marasmus D. Anaemia
Which one of the following melts at the lowest
temperaiare? y :
A. Copper B. Iron
C. Ice D. Gold
The following are domestic birds. Which one is not?
A. Pigeon B. Wood peker
C. Duck D. Turkey i !

Which one of the following method of graz:mg i
the most expensive to start and maintain?

A. Herding. B. Stall feeding

C. Strip grazing D. Paddocking

Which of the following precautions would not ha'lp

" to preventthe spread of cholera?

A, Aveciding uncooked food

B. Disinfecting the vomit and stool of the patient -
C. Boiling water from rivers and ponds :
D. Vaccinating all the people in the area _
The flow chart below shows germination of seeds.

Germination
Epigeal Hypogeal ’
l N dooT
Maize - Beans Rice  Millet  Groundnuts
Which one ofthe fol]owEng crops are incorrect?
A. Milletand greengrams
9

\Vlncboneofﬂnefoﬂow:ngxsnotapmpertyofhgn?
A. Light travel in all directions -

B. Light is a source of vitamin: -

C. Light travel best in solids

The following are characteristics of wind
pollinated flowers. Which one is not?

A. Presenceofnectar B. No scent

C. Dull coloured petals D. Feather- like stigma
Swimming, boatramngandsm‘ﬁngareallusesof

~water?
A. Forrecreation B. Inthe home
L. In the farm D. Inthe industry
Sheep and goats provide us with_ __and____
respectively? _
A. Wool, beef B Mmtorg milk

- C. Beef, milk D. Mutton, beef

Splash erosion wnbeoonuolled most eﬂ'ecnvdyby?

CA Commxrﬁnmng *B. Cover cropping -

C. Buildingcheckdams D. Ma.lcmgtmacs
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s Cunm.tmnamsaboutsluld
. paventsslecplessnights. Parents__ 4 teceivingacall from ___
minding their child, sepertingtheir 7 liseppeapance. ___

. muﬁyﬁmdﬁm 9 mwm&em —10__ possibilifies of such unfortunatedncidents.

3 <isappearances and ___

__murders are undoubtedly causmg &

5 househeb thescheolor __6___ otherperson
___ itis almost impossibleto gaxérameeahundx!d

' “Four child'sprotection __11__ when you are informed and aducated aboutthe basics of s sefety. Th:smews
m_,n mm’m:ﬁﬂamm::mmy Besicprinciples __ 13 myomchﬂdhung

'_ Mmhmmwtd@honemmbuswxm functional,

15 complﬁnnmmdthcn' ,

tive g0 complete the sentences.

18.  Neither AmondinorAchieng’ my
A. are, friends " B. is, friend
: C. is, friends D. are, friend
19.  ByFriday, wehad _ tensongs.
A g

D. ’Ihmmrnﬁﬂcnstynnmaﬂ:

A. A ‘Ihespectad.e-ts lyingonthetahle
~ B. Thespectaclesare lyingon thetable -

weeditng Startions.
, A B C. i D.
1 kidneppers abductions abductors seizures
3. magy most mmch least
R dreadfiil dread are fearfially
‘B TR e the some awy
8. some - any many most
7. child’s - chiids’ children’s - children’
8. Bat . However Basically Although
B, their there ‘they’re seldom
10. ‘moimmize  ToEximize regulate - contro]
12. measurable articulate more able ' -
13.  imitate ~transiate add exaggerate : :
14,  knowledgeable Xnowledgable knowledge knowledged
‘18, parent’s parents’ ' parents father’s
FQMM 16 and17, choose the wdrdth:d ‘ C. 'Ihespectaclcsxsl)angonthetablc :
: same as D. Their spectacies waslying onrthe table
16.  Allthe ﬂaw:rsmfhcmdmdmﬁmhddlghtﬁﬂ For guestion 22 and 23, choose the alternatives that
Zagrance. BEST cempletes the sentence.
A. Oduor B. Smell 22.  Allmyfriends exceptDuona, . . homm
C. Stench D. Scent Kmya .
17.  .Driving a carwithout brekes is A. were B. has
A. Destructive ~ B. Risky C. was _ D. willbe
C. Fatal D. Endangering 23.  It’shardlyaday sinceitrained, ?
For guestions 18 and 19, cfmose the BEST alterra- A iso’tit B. isit
- C. didn’tit D. did it

For questicns 24 and 25, choose correctly gunau
ated sentences.
24, A. Yes my friend sa1d “I will never leave you.”

B. “No they are comingback after break they
told the teacher.”

C. "Moo, wewﬂlcometomonow, “they .
shouted.” X

D. “No," myunclesaid, “the cows are grazing
now.” o _

A. Youdon’t respect you boss “said his wife”

B. Wheata surprise? Exclaimed Damaris.

~ C. 1t's feathers were drenched

D. Had they studied mousi)gﬁnywould hwe

hit the jackpot
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The post election violence in early 2008 ieft everyoneinEenya devastated. People were killed, propetty was
destroyed and there were massive displacement across K exrya. Wﬂepmm nex&umxap
today, This was and will remajn a furning point for Kenya. : -

Muticagyas, cmsolsnppme, mpmwdmmmmm&&sﬁummﬂm&w
t&wmmummmmﬁmﬂ decisions, wmﬂmmﬂ:cymwwm
tcehngﬂwﬂmd. Certain ethric gropps continue 1o feel left outin sllocation.of the socalied Natiogal Cake* “These
commrities feel that over the years; the government jobs and national resgurces, for exampie, havelbom allocgiefito
ofher commmnities 2nd not athers,

The Serena negotistions lad by His ExmﬂmcyiﬁﬁWuMmmuﬂymmW
zgm:eof&:snnh!y ¥a thisrespect, they decided to have: ammmmmm Theprocesswouild
beled by e commission. Thecommission will- ensmeﬂ:atthmxmdxmmmﬂm onﬂ:ehnsaofeﬂmmtywm :

Kenya'slife.

26. Theword*“devastaied’ isunderlined. Another . B. Govmanm
waord which couildbg used instead is ‘ L. Bospitals that gre well ' dicige -
A. Damaged B. Happy : , D. Specxalschonlsforpwpbmthcm
€. Ruined D. Lost 33, Tyouwere the president of Kenya youghoulid?
27. A}hheblhwmgwmeﬁectsofpostdem ! A. Favouronly yourpeople _
. violence EXCEPT? C B. ABcvrpeapkmaommeym
A. Displacement of people i C. Letpeoplevote -
~ B. Killingofimmocent citizens - ) D. Rmmwwmdp@aﬁm
C. Creation of progperity s g again :
D. Property destroyed © 34, Gheofﬂacmdfwm
28. thmﬁheﬁ)ﬂowmgsuggest:onswm ) negotiations was? -
' amrdmgtoﬁ:cpmsage’) . A %lm\waNMCohmmMs
" A. Theeffects of post election violence is over - B.Peoplewillpever fightagain .
—B. Thepost election viblence was a turning point < Zh}imqnal(}nmmteenﬁﬂ!yw
mK:nyashvstnry D. Thepeopleof Kenya are now fearfill '
C. “There are some people who have not been. 35. The process of&ﬂnﬁunimimnw‘by
-affected by the violence A KoffiAmnan /¢
Children / pupils in Primary schools were not B. Members of Padiament

4 affected by the violence ' C. AfCemmiss'mncr

enya citizens D. ACommission -
A. shmﬂdneveraﬂowﬂncpmblem to recur 36. mmm&ﬂ!ﬂﬂyoﬂ'he commmission is to
B. should only go back to the violenceroute is make sure? £ )

29..

they don’t agree ™ ' Al Kyapeop}edon‘tﬁgnagmn
C. shonld atways vote when thereis disagreemen » B. Nowmmmtys:hﬁnmomﬁ:mm
amongcitizens . ' _ other
D. 'lﬂlmuﬁndthmdmmammauonhke : . C. That there is no discriminationamong Kepyan
ﬂnsmam D. ’Iheelecnomvaﬁaahm :
30. stcusmnswuahddmaﬂﬂ:cfonowmgp]m - 37. The ‘occurrence mmhm
except? - vefersto____
A. Schools - B. Churches A.Themwmﬁmm
C. Hotels " D. Morgues B. 'erﬂghnnggd:waenl(czmmdnﬂwr
31, W'Mnusedmthepusage l people - |
' DOESN'T mean? [ C. mmmemmmmm
A, Fw ' . B. ;Sumse . D. ’I'heﬁghtbetwemd:ﬁ’annreﬁglm
, C. Unfamiliar . D, Familiar - . 38  TheBESTtitlefor the passage would be?
32. The*NafionaiCake”meansall the following A. Healing the wounds 6f past violence
EXCEPT? o S B. Theappearance of Koffi Annen inKenys
A. Tarmac roads . C. Communitics of Kenya

D. Astitch in timé §aves nine

i i
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Steve QOtieno, a driver with a local health company, was in his shift at Wilson Airport on Madaraka Day
Onthat day, Otieno Iooked forward to 2 bath and relaxed afternoon in his single-room house in Kayole. As soon
g ..the mdthc acrmnunal bathroom, however, trouble began. The right of Ofieno’s body suddenly went numb. He .

stretch his amm to scoop bath wateyfrom the basin and barelymanaged to stumbleback to his room.
puzzlms. Otieno felt no pain. Just numbness and a tingling sensation from the right side of his face to the

- toqoqhss nght:foot Ajustdid notknow what happened to me. I felt like halfof my body dissolved,” he recounts.

at Otieno didn’t knowwas that a blot cloth, the size of a bean, had suddenlyblocked a vessel on the nght 81de

oﬂmbmm Dapnved of oxygen supply and predéed down by the cloth, his brain cells were dying, And ifhe did not reach

aneurosurgeon, he would die.
.+ Otieno was joining tens of millions of people worldwide who fell prey to a stealthy killer called stroke. Around the

' woﬂd, stroke kills at least three people every minute:. It is-already the third most fatal disease in the United States after
'wm&mduncaand a leading killer in such developed countries as Britain and-China. _
Accordmg to Dr, Kistara there are two main triggers of stroke, one, a ruptured blood vessel inside the brain tissue

' "_hh-noells.

s thltpouxs blood mslde mstcad of supplymg it to the brain cells and two, a blocked artery that shuts downoxygensupplyto |

4,

43.

45.

;Accardmgto thepassagc, Ouenoworkedasa T
. _A. Driverat Wilson Airport

" B. Drivériri Kayole - _
C. Dyiver at mﬂ:atranspoxtcompmyatWi]son

Aifport

D Dnvermthahcalthcompanymxaynlc ;
*BoﬁmﬂxeMadmnkaan&undomMo 7

A. Was in perfect health.condition
B. Had spent the maoming in bed
C. Was resting in his single room

D Waslbohngforwardtoyetanothershlﬂat

the bathroom -
Oﬁmusedtoshare,tnssmgleroomml(awle
withe: - N -
A.Hxsw:feandchﬂdren .
B. Hxsworhnatewbomnotnamed

C. Hisneighbour -

D. We are not told’

* When did Otieno’s problem begin?
-A. When he was leavinghis work place -

B..As soon as he entered the bathroom
C. When he was taking bath

- D, Ashe wasresting in his single room _
The bathroom mentioned in the passage was.__?

A Shamdbyauthepeoplemthenmghbowhood
B, inside Otieno’s abode _

C: inside his workplace

D. hisneighbours - :

‘What problem did Ctieno encounter? B

A_ Hisrightlegcouldn’t fanction

B. His entire right hand side became numb
C..Hecouldn’t stretch his right hand

D. He couldn’t scoop some water from the basin
Which of the following statements is NOTtruc
accordingto the pa.ssage"

A. Ofieno felt numb on one side of his body

~ B. Oftieno couldn't'siretch his hand once in the

- 46.

47.

48.

49.

50.

C. Besides mumbness thiere was a tingling sensation

- C. There was ablood blockage in the left side of

D. merewasaéiottﬁ'eslzeofabeanmhlshead *
_Thebrmncellswcredymgbecm:sc___._f___? K

bathroom

C. Otieno only managed to staggcr back to the
hous=

D. Otieno mcounteredased;bmgpam ﬁ'omhxs
side- |

It is true to say that?

A. Otienohad felt this way before

B. Otieno’s body had been dissolved -

D. Otierio was not scared sincehe had been
warned of the problem

The cause of Otienos problem was?

A. Bean was stuck in his brain

B. There was a blocsdgein a vessel

the brain

A. Otieno was alsodying

B. There was no neurosurgeon

C. He was not able tq breathe properly

D. There was ascazmtyof%ygenmhxsbmm
cells

The Jisease mentioned in the passagc ?

A. Attacks slowly '

B. Has affected only thousands of people

C. Xills amaximum of three people every minute

D. Onlylkills peoplein the Western World

Accordingto Doctor Kisiara v ¥ 7

A. There are two canses of stroke X

B. There are a minimum of two causes of stroke - |

C. Strokeis caused by a mleobd'vﬁsel :

D

only o
- Stroke is soon goingto be eliminated
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12,

DARASA LA 8- MWAKA WA 2015
KISWAHILI LUGHA

Muda: Saa 1 Dsakika 40

SOMA KWA IMLAKINI MAAGIZO YAFUATAYO

Umepewa karatasi hii ya maswali na keratasi ya kujibia. Karatasi hii ina maswali 50.

Tkiwa utataka knandika chochote ambacho si jibu andika katika karatasi hii. _ .

Ukisha chagua jibu lako lionyeshe katika KARAIASIYAMA.‘U.BU pa wala siyo katika karatasi hii ya maswali.
' JINSI YAKUTUMIAXKARATASFYA MAJIBU

Tumia penseli ya kawaida
Hakikisha ya kwamba yafuatayo umeandike katika karatasi ya majibu:
NAMBA YAKO YAMTIHANI
. JIHALAKO
"JINALASHULEYAKO -

Kmmchorammhﬁhvmmhwmmmnmba yako kamili ya mtihani (yaani
mmhylllmk,mzilenambatammmnhmrwa)hnhnehmmihyoangwumwanm wnkumamynmmibu.

- Usitie alama zozote nje ya visanduku

de:enﬁknahayakoyamnjibumusiﬂdmje‘ : ' .
Kwakihswah l-ﬁwwamay’bummne. Maﬁbuhxyoymeonyeahmkwahauﬁ.&.B C,D. NijhuMOIAm
kaﬂyahayommneamhalomuhihx.clugua]ﬂmhﬂo

; Kmpmpmmjmmmmmmmmhmmnww

Yarwa ndilo jibu.

Miang: § -

Miluzi kwa nyoka ni kama _ kwa tembo.
A. Miteteo .

B. Mngurumo

C. Mtokoto

D. Mtweto

Jibu sahihi ni (D) (’lh.nuri)

Katika karatasi ya mnjibn.
B (A1 B] (18

j 520

Katika visandukn Wmmmnmmwmmmnmnmmm
lu - : = = . . . . 5 5 -

Chonhmchakomeumchakohwecbmﬂuhqmme‘ylbsmdnhL

. Kwakila swali, chomhsmkaﬁ]uhmdnlmhmqntwhﬂyamandﬂmvmeulwyopewa.

Karatasi hii ina kurasa nne zilizopigwa chapa

- FUNGUA UKURASA

_Kurasa i
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v { E oma vifungu v,[;_ggggwa. Vina nafasi 1 mpaka 15. Kyva kila natasi winepewa majibyu manne hégo. m a3

lifaalo zaidi a aleulzo

‘e -

Usiku__1___umebiga. 2 __ndefu katikakijiji 3 Rubu. Usiku 4 Kijiji__5__ Iilikuwa kimegubikwana
' uhmyawakuhsha _6___chakumfanya_ 7 adhamkuwa __8 nauhai_ .
i Umhvuuhokuwepo 10__hisia__ 11 __anayeingia 12_ aﬁhnkwambakulﬂmwanahahyahamlhiknhuo
wannkijiji wahshuhudxamaajabu kwani hatambwa —13__deima A4 hawakusikika 15!

R Aot S -~ B. G D.
1. .. ulbikuwa alilirwa walikuwa - uillua
2. atus . hatua ‘hemsh aula
; - wa cha za Ia :
,I 4. uo huo ’ uo huma ' huo uo hnd huyo
| 5. zozote zote chote ' chochote
i 6. kiazi * : kisa killoazi kinsi
7. yole yeyote chochote yoyote
8. isipokuwa palikuwa hapakuwa ijapokuwa
| 9. wowote lolote ote - wote
10.  utatoa hutoa ungetoa unatoa
| 11.  kuwa na katika kwa
12.  hapo b hapa ik
13 ambao ambalo ambaye ambako
; 14 hukoroma bueiica hunbweka huroroma
] 15 sana " polepole kidogo kamwe e
Kuangig swali la 16 hadi 30, jibu kila swali. ] " €. Haraka heraks haina baraks
kuBinpena na maagizo ulivopewa. = ] D. Petero naye ni panya buku p
16..  Tumiakiashiria kujaza pengo. Geri — _sizumi.- 23. - Chagna sentensi sahihi miongoni mwa hizi?
A hilo  B.lenyewe - - A Mitome imeiuamijusi miwiki
o . C. lake . D. dogo _ B. Mitune wamewaua mijusi wawili
| 17,7 Chaguajibulililojumulishakonsonenti onibata, ~ C. Watirne wamncina mijusi miwili =
» A 4, ny, sh,ch B. p,mbh, X, f S D. Watuine wamewaus mijusi wawii -
! - C. gh,ng,kh, th D. a,e i, 0 : 24, And:kascntmslﬁmwkvmwmgwauh:bwa.
18. 'Ninom:mxpusyoambammshwam_lgah I - ~ Ng' ombemwmamevmjhmgm. ;
barabara? o 5 , A. Mang’ombe weusi wamevunjika migun
! A. Unyoya U-YA B. Kipangi A-WA o B.: Gunbc_)mhmwmgikaglm
! C. Tarishi -7} D. Shaori LI-VA . t
: 19. Chagmlawahhstnhﬁkamm ‘erl ¥ . . D, qu:mbemmymvmﬁm
{ - : mwanakwmnhnylﬂcmﬁxpndoedimvh 25. ;ﬂnnmmmxmmhp,mmmﬁzi)m~
A. kwamba B yule ’ kiambishi4i- - LR "
C. Farrel D.mfupi =~ . : A. Kuonyesha nafsi,
. 20. Nmolahmyahakmidbiknmwma . B. Kuonyesha utendaji
i uliotendewa ni : ' C. Kuonyesha kuandika .
. A Buriani . B. simile . gl D. Knonyesha mtendaji «
i C. Hayati D. Kongole 26. ' Andikakwa wingi: A]xtembeapolq:oleahﬁln
21.  Andikakwausemi halisi. Iabaabmambuhxwu kwake.
alnpmda shule yetu, : N Al WaktunbeapolepolewahﬁhMGo
A. “Naipenda shule yetw,” Laba alisema. + © ~* . B. Watatembea polepole wafikekwads =~
B. ‘Nawaambmnapmdashtﬂeydu, Laba - - C. Walitembeapolepole wakafika kweti, -
alisema. : D. Walitembea polepole wakafika kiwace
C. *“Naipenda shule yenu,” Laba alisema. ©27. Wakati baina ya mnanehaduukmnamo,]a
; D. Labaalisema, “naipenda shule e - jionini___ 7
[. 22 Mfanomzuri watashbihi ni:- AL Mayna.n'bt B. Alasiri
; A. Wewe nj mtulcatu mithilj ya kihongwe . C.Adhuhuri - D. Mchana ‘
| B. Ole Wangu! Mbona nilifiztana nao? | 28  Rapemoalikula tusui mbili yamuwa. Je,
| @, 3 .
!
i :
i
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alibalisha Kiasi gani? - C. Manjano D. Nyekundu

A Y, : B. %, B § 3o. Unapotakalnmbebamgonjwautanznmk:faa
C. ’/ D. ’/ N \ gamni? .

29. Rangl yakwanzahnolm;uukwmyeupmdem ? A, Kitata _B. Mizani
A. Kt_;am B Um_mam C. Patasi D. Machela

o Kmakaz:mbahmbahmhnwm Kmﬂmhmnudakmn.mxbaﬂ,mhodhamhmgacham Aidha, kuna kazi
Ayaugmga. Umhxbahmnmhﬁhpnapmmmwmvibaovmgw;bmngaawagm@mamﬁ,mgxm
mitini na kujiinaroiatu. Je, wanaoviandika wameszhau kuwa chema chajitiza na kibaya chaptembcza'?
Upngamkmamba)ommhtmﬂnkwuaﬂmmqa. Mara nyingi utaiuta mtu aliye mjuzi wa uganga ni ynle ambay
ameinukia katika mazingira ya uganga. Hivyommumnkwmhbabayakcau babu yake au hata jama2

yake nzima iflatoksna na ukgo ambao umepats mazingirs ya kiganga,
Ehmu}augangabasimyammkammmhawmhgnnmmahudayasikuchadwmkumh Linalosikstighz

zaidi ni jinsi waganga wamezyka kwa figo. Waohcqqnmapnam&tbmmahxbwamkmaaauwezowao wa kusuluhisha
hsi,hundoaumsanaugtmbamhnoanaﬁsxmmadsmhkmm. Jambohhmhamkwamh\mdahkawapatoshav@' g
wanaodhani ni ukweli. Wakiﬁkapalehuiﬁﬂlwahﬁmguamkobamdapm. ;

Si kwamba waganga wote ni bandia; kuna wale halisi kwani hata enzi zamababu zetu wao ndio waliotibu ndwele
ainati k'wa kutumia mitishamba. Hata hivyo msipa;nemambobﬂayakuyadnmgnanahﬂumb:hayeymeanaydauakua

31. Kinyume cha kuganga ni ? ¥ § ‘ A. kupiga mwayo
. A. kuokoa. B. kurithi. : y B. kupiga hatua
; C. kugangua. D. kudhuru. " C. kupiga darubini
32. Kulingana na hebari hii, kazi yauganga = ? D. kupiga chenga
‘ A. ni kazi ngumu sana. ' 37. Wagmplnmwmawcmknsduhmhm@s,r—
B. hmﬁannmkmhadlhm ‘ ugumba ili watu wapate?
C. ni somo lamudamfupi- . 3 A.Kazi . © B. Vikembe
“D. mJambolakm:lthxwamwanotDpacha C. Mamlaka D. Mali
33. Mwmduh:mmihuwemmw 38.  Mwandishi anamtshadharisha dhidi yz:-
A. Ujitangaze ili uwezé kujulikanae e A. Kuwa na papara bilakuchunguamarbo
B. Ufanye usubuiba ni waganga.s : . - B.Kupata madamka kazini
C Upate mafunzo ya aganga chuomis ~ C. Kulipaada kwawaganga
'D. Ukulie katika mazingira yakigangas : , D. Kutibiwa na waganga wots
34. Vibaoa kutangsza waganga vimegongomelewa 39. Malipo kwa mganga ni ada, nayo zawadi kwa
. mitind kwa katomis inayotamiwa kumshikemiotoni?
kugongomelea misumari. 4 e ©  A. Fichoo B. Maduhuli
_A.nyando .B. mbao i C. Fola D. Mukniaa
. C. tupa D. kinoo : 40, K:dz“mwlﬁkadnhabmhnm? '
35.  Waganga wamezuka kewa fijjo. Hii inamaanisha? A. Maprofesabandia
A. Niwachache = B. Nikiasi B. Waganga wote ni halisi
C. Nimaradufu D. Ni wengi : ' C; ‘Waganga wa mitishamba
36.  Ukipelelezazaidi ... badala ya kutumia : D. Waganga na wagenguzi

' Danohaslmmﬁmowmuwﬂambwwmgonwakchuchmhwakwanjmyampxgam Aidha,
m:wash;rﬂnshawamnch:h:p!&awablmymbodngﬂxw& Wabunge ni wawakilishi wa watu bungeci. :
ummwmmwmummmmmmm kuabudu na
mmwmwm Vile vile, demokrasia husisitiza karzingatiwa kwa sheria katika utawala.
Uongoznwawﬂnwmgxshm“hah:muhnhuwwhmba ‘ ' ' ‘ ] ;
Ndnmmﬁmmﬁmomﬁdmmmmmyoddﬁ#mojauumwamm. Aghelsbu

b £ e e i b A 8
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katika uongozi wa aina inayorejelewa, nchi huongozwa na wanademolcrasza.
'Demokrasia huwaruhusu wananchi kushiriki katika siasa yanchi. Watu huwa hurukusema hali ilivyo kaﬁka

u:kawala wao, Hufamyabiashara bila kubaguliwa. Uwazi, uwap'bikajz, uzalendo, uvumihvu wa k:.sxasa, uchaguzi wa haki na
kusikizana baina ya watu hupewa kipaumbele. -

' Katikanchi yenye idadi ndogo ya watu, dcmokrasxayamo;akwa moja hufuatwa. Waja hupigia kxﬂmkura,
.huwmka viongozi kuwatatulia metatizo yanaybwahnnba, kuibua sheria zakuﬁkmwa nakamati yakuchunguzana

g kutekébxsha sheria hiyo.

KWa upande mwingine, katika utawala usio wa moja kwa mo;a, viongozi wa wananchx huwawakilisha bungem.
Iwapo taifa litazingatia demokrasia, basi visa vya dhuluma dhidi ya raia wake havitashuhudiwa. RaJa watapewa uhuro yva
hgnelea k'ablayakutxwa mbaroni na kufinguliwa mashtaka. :

' Mfumo wa kidemokrasia huzingatia hakl_zalcibmadmnunausa.Wa katika jamii pasi na kuchagua kabila, rangi an
tabaka Ikiwamfumo wa demokrasia utafuatwa katika nchi yoyote ile, basi utangamano utakuwa ni nguvi, utengano ni -

g |
41. Klﬂingaﬂangldﬁmguhﬂd,danoh?siani:— C. Husb gmlilqwalcwanza
- A. Mfumo wa viongozi kuwasikiliza wananchi D. Hushugulﬂgmharakaharaka
B. Mfumo wa kuwachagua viongozi kwa. 46. Demokrasia yamojakwamojahufuatwa
_kuwapigia kitra : katika nchi ? '
C: K.uwasinn]ushawmanch:kwawabtmge _ A. Yenyeidadi ndogo yawatu L 5
i D. Kuwapigiakwaviongoziwanchi ..~ + { . B. Yenyeidadikubwayawatn < ;<7 naige v
42, Wabungeni . A Zenye:dadxndogoyawam _ g
" A. Wawakilishi wa watu katikabunge i T meewamwadogo L '
B Wawakilishi wa washirikishi wawananchi  * § 47 Wananchx huwainkawongozx 2
2w Wasb:rﬂnshlwawmmclnbungcm : A anhnasbmanamatatxzoyanayowahnnba
' " D. wawakilishi wa wabunge waliowachagua ; - B. Kuwatatulia matatizo yanayowakmnba
A Jamii yenye umoja na usawa wa wote _ : D Kuchunguzanakmckeblshaéhma
© B. Jamii inayoongozwana wanademokrasia | 48. Viongnzzh.twawakihshawamndnbamgunknﬁh.
C. Jamii yenye umoja na usawa wa wananchi ; Al Dﬁnohaslamyoyamojakwumoja 8
D. Jarnii mayos:smzamno_)amusawawnwa.wote ' B. Utawala wa moja kwa moja
'44.  Kulingana namponi yamuwandishi, mambo ) C.Utawalanad:mokuamam}oyamqpkwamqa
yanayoonyesha utawala wa demokrasiahuwd? ~ } ' D. Utawalausio wamojakwa moja _
- A. Uhuru wakuabudu, , kushiriki na haki za raia 49, Maanayanenowkaﬁkatamﬁm-
B. Uhmuwakusana,kuabudu,kuslnrihna A. Kmmwm
: demokrasia : ' - B. Kukasirikiana kwa watu
C. Uhuruwakumamaom,kuabuduhismna G C. Kushirikiana kwa watu
kuruhusu P D. Kusherehekea kwa watu
D. Uhuru wa kuabudu, kuimba, kushiriki, hakiza - | '50. Kichwa kinachofaa habari hii zaidi ni-
’ uraia ' = . 'A. Demokrasia na siasa
- 45.  Hupewakipaumbele maana yake ni? 1 * B. Umuhimu wa utawala v
' A. Jambo muhimu linalostahili : ’ C. Manufaa ya utawalanasiasa j
B. Hushughulikiwa mwisho . D. Manufasya utawala nakidemokrasia




Powered by: www.eeducationgroup.com

HOMA BAY COUNTY PRE-MOCK EXAMS
DARASA LA 8- MWAKA WA 2015

KISWAHILI INSHA

Muds; Dakiks 40

NAMBARIYAKO

JINA LAKQ .

JINALASHULE YAKO '

SOMA MAAGIZO HAVA KWA MAEINT

1. Kwenye nafasi zilizoachwa hapo juu andika nambari yako kamili va Mtihani. Jma lake na Jina la shule Yako.,

2. Sorna kichwa cha insha kw= makini na uandike insha yako kwenye nzfasi

Kifitzbu hiid cha maswali kina kurass 4 zilizopigwa chapa.

‘Umepewa dafika 40 kuandit- {nzhz vako

And’..’uz Insha isivopurigua ukurese moic na nusu juu ya kichwa ifuatayo; ATHARI ZA DAWA ZA |

KULEVYA _/
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' HOMA BAY COUNTY PRE-MOCK EXAMS
STANDARD 8- YEAR2015
ENGLISH COMPOSITION

Time; 40 Minutes

YOUR NUMBER - )

YOUR NAME

NAME OF SCHCOL

READ THESEINSTRUCTIONS CAREFULLY

1. In the space given above write your index number, your nainc and name-of your school.

p Now read the heading ofthe composition carefully and write your
Composition in the given spaces. ' '

YOU HAVE 40 MINUTES TO WRITE YOUR COMPOSITION
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